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Cost of Capital
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V, =MV of debt

V, =MV of equity

r, = cost of debt

r, = cost of equity capital
T = the tax rate




The Plan:

Calculate the raw variables

Adjust Financial
report

Calculate Balance
Sheet and Income
statement

Simplify structure

Calculate cost of
Equity

Calculate ROE and
ROA

Choose a model

Assume over
forecast horizon

Calculate cost of
debt

Calculate extra
measures like FCF

Discount stream

Assume Terminal
Values

_________

Calculate WACC

_________

Continuity
correction

Add streams and
TV

Subtract debt if
neccessary




Continuity Correction

e Sum(PV +TV) x (1 +0.5x WACC)
e Sum(PV + TV) x V(1 + WACC)



